Chapter -4
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PERMUTATION AND COMBINATION

dgfasheda 399 (Multiple choice question)
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7fg "p, =60l nH HA 2
If "P,= 60, then value of n is.

(a) 3 (b) 5 )
(©) 9 (d) 20

P, &1 M &qrET :
Find the value of *p, :

How many words can be formed with the letters
of the word 'SUNDAY" taken two at the time ?
(a) 50 (b) 30
(c) 40 (d 60

'PRODUCT' 38 & 318 § dH-d9 378 &
fora fg=-fo=1 o8 o1 9% ® ?

How many different words of 3 letters can be
formed out of the letters of the word 'PRODUCT" ?

(a) 500 (b) 504
(©) 502 (©) 510 (a) 210 (b) 200
OC. T HE & (c) 250 (d) 240
The value of °C is : (10)  fy=Afafed el & 1)l 9 fohad fafa=
@ 210 (b) 100 I SFIT ST Eehd B 2
(c) 1024 (d) 60 How many different words can be formed out
p of the letters of the following words ?
41 A %7 , (A)  STATISTICS
The value of "P, is () 50,000 (b) 50,400
(@ 4x3x2xl (b))  Tx4 © 50,500 ) 60,000
© Tx6x5x4 (4 LTxL4 (B)  ACCOUNTANCY
"P g BT @  16,00,000
"P_is qual to (B) 16,50,000
n (C)  16,63,000
(a) # (b) p (D)  16,40,200
(11)  'Vice-chancellor' 37eg & GHt 378 i oIk
In o™ v o ST Fehd © ?
() How many word can be formed with all the
n—r letters of the word vice - chancellor ?
d . .
? (oome of thess w Mow I
32 212
CAT g 2- i
Wa%a&mﬁz’zamﬁa%mﬁ © 1 ; 14
fafe= o5 o1 gt T 2 = @ 2
How many different word of 2 letter can be BQQ
formed out of the letters of the word CAT ?
(a) 8 (b 6
() 3 (d 2 ANSWER
g °C,,= "C,qa n TR 7:
If"C,,= "C then n is equal to : (1) b ) b 3) a
(@ 20 b 12 @ ¢ 6 ¢ 6) b
(¢) 30 @ 6 (7 a ® b 9 a
(10-A) b (10-B)c (11) c

'SUNDAY'3is% § Teh aR H T 378R Th
Fod Tohad T8 a1 S T 7 7




Y I UH
(Short Answer type question)

(1)  ARP =3024, A rh A FFhTed |
If °Pr = 3024, find the value of 1.
3 ¢ Given
fean & P = 3024
9!

- =3024
9—r)!

9 4 |
= 3020 — O~ 1)
= (9-1)!=120
= (9-1)!=5!
=9-r=5
r=4
) AR P, =20 x"P,ql nH HA feemfery
If “P5=20X“P3ﬁndthevalue ofn.
S 0 "P,=20 x P,

E n =20x n
[n=5 n-3
n 20 X |n.

= =
n—5 (m—3)n—4)\n—5
= (n-3) (n4)=5x4
= n-3=5
n=2_§
(3)  Afk"C,="C,d "C, fapifera |
(if "C,,="C,, then find "C,)

nC10:‘1C12

10#£12

L 10+12=n

= n=22

= nC5 — 22C5 — \2

ol17

_ 22X21X20X19 X 18 X[17
5X4X3X2X1X[1T

= 26,334

4  =fg P, =720qen "C,= 120 r I HH A
hifST
Find the value of r if "P, = 720 and "C_= 120

o =P,
C =

= 120= 720

|
= |r= 6:(3><2><1)
= r_3

Lr=3

(5) fedt wfos & T FE § 50 fomneff ?)
3 fordd TR 9 3 WfafAfy wics e &
foT =7 Hehd ® 2

There are 50 students in a class of a collage. in
how many ways can they select 3 representa

tives for the collage union ?

I e @l = C,

50

" 3l47

50x49x48X[47 50 x 49 x 48
- 3x2x47 3X2

=19,600

(6)  fowad 9l 9 5 =Afed T 9 & TN
3N 93 T © ?

In how many ways can 5 men sit around a table?

3T AT ol T&AT
(Number of men) =5

SHfeIT 3k I ShH= hi HEA
so noumber of their cicular permutation

=(n-1)!
=(5-1)!
=4
=24

2 390a woa ( Long Answer Type Question)

(1)  =afg>C,:"C.: 11:1q na 7= feifau)
If>C, i °C :11:1 find n.
I C, Gl

nC, 11

=

"cy 1
2n  Bln=3 -n
32n—3 n

2n(2n—1)(2n—22n—3 X[3|n—3) -
T 2r—3)Br-1)n-2)n-3

T 20@n—1)2n—2) _
nin—1)(n—2)




42n-1)
= —_—
n—2
= 1In-22 =8n-4
= 1Iln-8n=22-4

11

= 3n=18
n==o6

(2)  3fg "P,=336 iR "C,= 56,1 r kT HA
EISAETY

If "P =336 and "C, = 56, find the value of r.

= o = 336....... (4)
n—r

= 'C.=56
[n

gt (i) e (D) 1 g1 FH W
by solving equ. (i) and equ (ii)
Ll ln—rlr _ 336
nor 50
= [r=16
= r=6, Hence 3gf, r=6
3) gfg 2P, P =11:52,qf r 1 A

If 2P, P, = 11:52 then find the value
of r
S
P, _ 11
Pp., 2
22
21 -r 11
_ o 32
18-r
22 X 21 X |20 y 18—
. 20 (21-r)(20—7)(19—7)18 = r
_ 11
52
22x21 1

T 21-1)Q20—r)19—r) 52

= (21-1) (20-r) (19-1) = 2x21x52x=12x13x 14

= 21r=14
o r=7
4  fafq= T & 6 v 9 fohad @@ & Herd
feu =1 gehd © &t Tk 9) ¥ feay o
AU TR S Thd € ?
How many different signals can be made by
hoisting 6 differently coloured flags one above
the other when any number of then may be
hoisted at once ?
SW:  HA Gehdl i F&A
Total number of signals =
6P 1+6P2+6P3+6P4+6P5+6P6:
R
6-1 l6—2 [6-3 [6—4
6 |6 6 |6 [6 |6
e, lo 16,16 16,16
5 4 32 @1 [0
= 6+6X5+6x5%x4+6x5x4x3+6x5x4x3X2+6X5x%
4x3x2x1
=6+30+ 120+ 360 + 720 + 720

= 1956 qdjsr ways .
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